F7TIEERRF—YREER7O Y /KA

S

X EBF 8A23H (1) 48 :#mIvv=TULIRERLITL
O7A\H T9/N—"7 (IN—T7 %A L 25LIA)
ORFREAE BIN—T4F—LOHEIEVERICLE Y —7HETH, KI7L—T0 14N
REBEREEH AT 5,
ATIL—T BZJ—7
1 FEE 1 Fk B
2 BT 2 BEE
3 AT 3 N
4 BEE 4 A2
1 9:00 FE 0 8 56 33 B
7 21
. *U 1B Za =]
2 9:20 L EE 19| 0T | a0 BB
_ e 7 — 14 -
3 9:40 o458 | P72 HAE
4 10:00 BEE 43 i? 8 0| mze
. =18 O 12 *xJ 1B
5 10:20 Fua 12| 0”0 | TIEIE]
6 10:40 R 28 11 ? 12 BEE
7 11:00 i1 36| 4~ 7 |a BEE LS
’ a 12 14 s
8 11:20 HAE 12 12 é“ 19| mz)e
9 11:40 Fua 24 1; ;g 40 el
. = 19 0 * 1B
10 12:00 B 38| 1o _ 5 |10 TIEIE]
11 12:20 ! 43 fg 8 0| mze
12 12:40 HAE 33 13 %4 21 BEE
32k 14:00 BT 27 }g 8 0 HAE
RZ*x BHRED




O7 A
ORFKRERE BIN—TAF—LDEEVEICED ) —TEZITUL.

THN=7

(N—T ZA L 25 LUR)

HIToo=

TYUYTHRERRZR Y T LA

BIINL—TD1LEAN

REFATEZ T 5,
ATIN—T B/w—7

1 IR 1 TER

2 BER 2 R

3 HER 3 fRRIIE

4 HARE 4 LBE
1 9:00 i 8 7 g 3 33| BFE
2 9:20 BEE 0 8 ;Z 15 | AR
3 9:40 &L 21 1‘7‘ (1)4 14| ==
4 10:00 wa)Ile | 46 gg 8 0 e
5 10:20 i 18 22 13 g 5 BEL
6 10:40 SRS 0 g 13 2| A
7 11:00 TS 0 8 ; 12| wmz)E
8 11:20 BEEH | 50 ;é 8 0 LES
9 11:40 Sl 18 0 g 1; 31| ipAE
10 12:00 SEE 19 1? ; 14| mES
11 12:20 TiEE |58 2; 8 0 LELE
12 12:40 EEE | 12 g 13 36 | wH)E

REREY 14:00 1A 9| 2 7| mmR
(=3 N




/.

DEST

8H21B(K) ME1—a1—E5 - HZIVPTFIUVITREREZSTLA
8HA22H(®) WE1—a2—L% - 240 (A) WEL—2—E5

O15 A4l 259 —=7 (N=TKAL5H5UAN)
ORFTRESE S8F—LTDOL—F XV r#EFTH, 1HOF—LERKET S,
ERER
8A24H (H)
WEL—21—L35
5 - 7
12 14
7 - 7
8F22H (%)
WEL—2 -5
7 — 25 19 — 7
40 25 36 21
33 -0 17 — 14
8F21H (K)
WELI—2—L5
12 — 7 5 — 28 28 — 0 17 — 5
24 21 10 66 57 31 12
12 — 14 5 — 38 29 — 7 14 =7
1 2 3 4 5 6 8
] 15 B F ES) il % %
;LE
w % = 2 5 5 ES
Nl
= (2] (2] 2] #B =3 = =

8F218 (k)
HIvo=ZTYvs

WERZDT L



